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G2 — Relative population size (% G2/G1)

Men — East
225
K
a\
\\
200 S
\\
\\ =
}F _ o
e = = _@% o
~N §‘
\r’A\
175
1501
T T T T
1930-35 1936-40 1941-45 1946-50
Women — East
225
200{%——a
\\
O\
\ 1S
[0
S
[0
o
175
1501
T T T T
1930-35 1936-40 1941-45 1946-50
Scenario
—@— Observed

_e_

225

200

175

150

T T
1930-35 1936-40

225

200

175

150

T T
1930-35 1936-40

S1: If H had fertility of L
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G2 — Educational Distribution (% Higher educated)
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S2: If L had fertility of H
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S3:if H's children had L's attainment behavior

Log-odds ratio
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G2 — IEO (log-odds ratio)

Log-odds ratio

Log-odds ratio

Men — West

15
]
5
A— — A
0 e A
T T T T
1930-35 1936-40 1941-45 1946-50
Women — West
/’?
A
25 2
7 N
K 7 e
1 X 7 v
N 7
2
A
RS
15
1
5
A— — A
0 — A =A
T T T T
1930-35 1936-40 1941-45 1946-50

S4:if L's children had H's attainment behavior



